Day 5 - Finding Trig Valuesper8-9.notebook

December 18, 2019

Homework 7-4

#1 - 8 a) see next slide for sketches

#1 - 8 b) reference angles:

Do warm-up at top of Day 5 notes and find the
angle measure in degrees to the nearest tenth.

Yesterday reference angles
were introduced, but we did not
practice any with radian

1.30 2. m/6 3. /3 4. None measures.So for HW 7-4: you
5. 45° 6. M4 7. T1/6 8. 1/3 should have been able to do
9 1ab, 2-8 a part only, 9 and 10.
.
Completed notes were posted
10. D as an fyi.
Aug 13-1:42 PM
Name: 77@5 Algebra 2 Homework 7-4
Period :
For#1 -8: a.Sketch the angle in standard position.
b. State the reference angle for each (if possible). .
1. 150° DZJQ,,,
045/50 _»/(509: .30
(@] \]'/4 / 0
L G—""C . W (3D
Mo X M;/L(g‘:ﬂ
= Lﬁ' >
o1 @E S_ %}I “
2B
(2
22—
L 5 '3 T 6
3! W el
5 EREL o




Day 5 - Finding Trig Valuesper8-9.notebook

5. 135
P
,\.’55
1\
6 37
4
7. X A
6
(e
14
—4r /j:g;
by
-3
>

9. What quadrant is angle 8 in if sin(6)

10. On the unit circle, the terminal side of an angle 8 passes through the point (a. -b)
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Both @ and b are positive. Which is not true? e =
a.5in(0)=-b " b.tan(6) <0 fom =2 2
. in(6) ‘
c.cos(B)=a @0_5(6‘] =0
Warm-Up: H C H '

P(3, 12} is a point on the terminal side of 6 in standard position. Find the exact values

of sin(B), cos(6), and tan(s).

PR 3 (5\\\.)

Also find the measure of angle @ to the nearest tenth of a degree
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Goal:
alues in various

a point on a unit
n a unit circle.

Aug 9-4:49 PM

s\&—

Finding Trig Values Give\ﬂf_ciri___q/ ,eo,\,\g”
* Remember j i e unit circle,
.9 the y- coord@x\w

the x:
and tan(g) = %QSQ— . To fin€l ~#8)we find the reference ongle first
using the positive lengths of the Incngle Sides, and then put that angle into the
correct guadrant r@
Examples: (C;ﬁ@'\ 33\@’\
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3. Point AII

sIandcrd p05|l|on whose ferminal side passes through A, find:

| is on a unit circle WITh a center of the origin. If 8is an angle in

a. sin(e) '—‘—‘6(% S A'
@U. cos(6) - \(9\ T— CJ
=-= 2= (3
c. tan(e) = )
d. mZe 0
css (5‘;\ =
<
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G
4. Pf—8: -4} is a point on the ferminal side of 8 in standard position. Find the exact
values of sin(g), cos(8) and tan(g).
Why is inis exarmple differentz 0D o e Qaat= Gin ola_ g )
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Aug 9-4:51 PM
P-4, 5L a point on the terminal side of 6 in standard position. Find the g f
values of sin(@), cos(8) and fan(s). 9 = . _‘QJ(LE_S -S—r—W
i (D S84 = @1
= _,‘i - r_:T.l: = ‘ﬂ:q-L-
. (0s&- =g = o (T /
=17 c/t%’“*S—C 0 ./
16 +25= ¢ Cand = 1w (3
dqr= ¢
c=(1)

4. P[-2,-3) is a point on the terminal side of 8 in standard position. Find the exact
values of sin(8), cos(8) and fan(s).
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5@5 a point on the terminal side of & in stfandard position. Find the exact

values of sin(8), cos(8) and tan(s). = ‘E‘L _ 5(&7/- R
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F(-2,-3) is a point on the terminal side of 8 in standard position. Find Ihee&a&
values of sin(8), cos(8) and tan(s). — 2 . (% - -3\ ﬁ
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Aug 9-4:51 PM

Application Word Problems:

1. Abicycle whesl with a radius of 12" has a valve cap positioned at the highest point of
the wheel. If the wheel is spun 7507 in one direction, how high is the valve cap above the
ground? Round your answer to the nearest tenth of aninch.

Aug 9-4:52 PM
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Application Word Problems: =\>

720

1. A bicycle wheel with a radius of 13" has a valve cap pesitioned at the highest point of

the wheel, If the wheelis spur{\?_s_[@'one direchan, _how high is thivcnlve cap above the
ground? Round ycur answer to the neareg an inch. 3&0

Aug 9-4:52 PM
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